Long term
care insurance

CF8: 2024-25 edition
Web update 3: 29 January 2025

Please note the following update to your 202425 edition of the CF8 study text (amendments in bold).

Chapter 3, section B12, example 3.5, page 3/14

The final sentence of the first paragraph should read as follows (amendment in bold):

Based on her assessed needs, residential care would cost £1,000 per week.

Chapter 3, section B12, example 3.6, page 3/14

The calculation should read as follows (amendment in bold):

Cost of care £1,000.00
Add PEA £30.15
Less Ahmet’s income (£15,000 + 52) (£288.46)
Less Ahmet's tariff income (£11.00)

Local authority contribution £730.69

Chapter 3, key points, page 3/21

The first bullet point should read as follows:

 In Scotland, nursing care is free for those who are 18 or over and assessed as needing care in a
care home.
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